Section—-C 2%x14=28

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 14 marks.
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10. What is Questionnaire ? Discuss the qualities of
Questionnaire.

YAl 1§ ? YYAEE! hi faQeistt sl =l ity )

11. What is Development Communication ? Discuss
its process.
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12. What are the Communication Models ? Discuss
the Lasswell Model.
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13. Write about the difficulties of Presentation in Rural
Writing.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 2 marks.
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What is Communication ?

TER FME ?

What is Medium ?
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What is Agriculture Communication ?
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What is Participatory Development ?
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Write the full form of SMCR ?
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Define the SITE.
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Define the Folk Stories.
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Section-B 4x7=28

(Short Answer Type Questions)

Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.
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. What is Content Analysis ?
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. Write about the Folk Stories.
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. What is Group Communication ?
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. Write about the Osgood Model.
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. Write short note on Case Study Method.
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. What do you understand by Experimental

Method ?
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. Discuss the role of Radio in Agriculture

Communication.
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. Discuss the role of Communication Mediums in

Development.
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